SuMPO EPD
1T NBRBEES
Fi#H&ES ¢ JR-BO-24001E

& NIPPON STEEL
B#Z 7V LAHREH

NIPPON STEEL Stainless Steel Corporation

SuMPO

..E PD

AAAAA

VERIFIED

BEEL
1t
BEX KRR
O E#&A4 m SRS

FOERPE (FAVRIERE. RAR0OEX. RRORE)

HMOB, TELHK-FET
BET A b IWOREPR. ESRER
FRRRUE @ IS (BAREERUR) . ASTM. ASME
BHEZATILARUE X @ME(CS
RAAR @ 855, SEAR. #5744, 5
FRRE (BfImm. t =#RE) t=0.1~9.0
FRAER (BfImm. ¢=BR) ¢ =5.5~60

E[AY=relce
B#XX7> LAt $ish EEi=E
TEL : 03(6841)6170

https://stainless.nipponsteel.com/

(EPD)

SUMPOBRIESAITOI S A
—MRAIEEFEAT AT T IR EHEEAE
RRHTREXAMHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

ATULARBR(TISAR-TIILTUOYARR)
Stainless Steel (Ferritic *Martensitic)

N

ERES JR-BO-24001E

IEFAPCRES  PA-187000-BO-03

PCR# ATVVAE G (PREE) [E3kk]
YNE]=! 20245118 25H

RALEEE 20245108118

REEA B FBIREES 2

RIEES JV-BO-24001

IRAEEZEAR 20294104108
PCRLEI-DENE
WEHZ 2023F2H4H
ZER LE #

—MAEFR AT AT T IR E HEE S
B=EIREE"
NEBIRIEE B ER
1ISO140258 &K TNS021930IHE>TeAE E R UT -5 DML
REE

O

*YAT LR ER IR EGRDRIIDIB S, YATLRAET>LEEED
ZEEHE.

E85&ES 1 JR-BO-24001E



SuMPO EPD SUMPORRIEESNILTOT S L

e _ —BALEIEAY AT T S
o .. E PD S4TNBIEBEE (EPD) BT RERXAME-14-8
VERIFIED KANDA SQUARE GATE
BFiH&ES ¢ JR-BO-24001E https://ecoleaf-label jp
OF1TY1 VIV R &R
0% 20% 40% 60% 80% 100%
SUEZE) IPCC 2013 GWP 100a 4400 | kg-CO-eq
[7ye(e 44 | kg-SOqeq
HALFEAFIY U 0.081 | kg-CzH.eq

m (a1l EMHEAE sl EHMHo@EE o[l RHa08E

AR 15H Hify A5 |a) ERREE (a2 Ereom | [A3] HEORE
SURZSE) IPCC 2013 GWP 100a| kg-CO.eq | 4.4E+03 3.3E+03 2.3E+01 1.1E+03
AV EHIE kg-CFC-11eq| 1.6E-04 1.6E-04 1.9E-10 1.9E-06
7y (e kg-SO.eq | 4.4E+00 3.0E+00 9.2E-02 1.4E+00
HAEFAFIIVE kg-C:Hseq | 8.1E-02 3.2E-02 5.3E-04 4.9E-02
EREL kg-PO.¥eq| 2.9E-01 8.5E-05 1.6E-13 2.8E-01
@F17H 171 INRY R 3B E B IR CMERUMEICEIS 248 Hh
I5H By mR-9E (EREY) By
EBERBEER 3.2E+02 kg &% [C] =04 %
FHEARIRIF- 5.9E+04 MJ T1% [Si] =30 %
HERBREIR 6.5E+02 kg NYHY [Mn] =20 %
BEARIRIF- 1.4E+03 M) U [P] =0.15 %
WIKDEE 1.2E+01 m? BiE [S] =04 %
—vTI)b [Ni] =25 %
IHH Hify EUTTY [Mo] =40 %
BEHEEY 0.0E+00 kg #R [Cu] =20 %
mERZEY 4.1E+01 kg Z#7 [Nb] =10 %
HIMTHAINICBIBRENRERLTVET, FH (Ti] =10 %
FIVIZUL Al =6.0 %
A [Sn] =10 %
2% [N] =0.12 %
X [Fel =65 %




SUMPO SuMPO EPD
o ...E PD s17umisss (erD)

E5&ES © JR-BO-24001E

SUMPOIRIESANILTOI I s
— R R AY AT TR SR e

RRBTREXA#HET-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

GOHEERRICETZEMIER

VERIFIED
NEEOERE Y FUAIIPCRIZHE Tz, THMEXITE LEXERHEZ XY I CEHAIL TRV,
QARY-bE OMRRUYEICEET 2B ICDNT, SKUA I REBZMMRIERENS LIREDIE, RADEDETRY, &
DR &, OB D DR TREINS,
3)—RT-HIL 2022 FEDERIEMEEER L, BHREALRIEN, —MREKEEE 104, 2014FEE | 2EALE,
HETERERE. R, BROMEFIETHS,
S)HABACAR)MICEZHRIEEATVEL,

©-1.Z DM DR EEF R

ISO14001F8E L% THEL TS,

©-2.8EYEICREAT S5
I5H CAS No. EDE
YUY 7439-96-5 FEREBERETS
] 7440-50-8 FEREBERETS
704 7440-47-3 FERSHEEEITS
vl 7440-02-0 FEREBERETS

OERLEZRT-90EZ A
IDEAv2.1.3 Z{FEMALT,

®fsE
OJISHHE 1 JIS G 4303 (RATYLAHHEE) | JIS G 4304 (BAHEEZEATYLASRAUHT) | JIS G 4305 (AREEEZEARTYLASHR
RUEE) . JIS G 4308 (AT YL AMIRM)

OASTM A240/A240M (Standard Specification for Chromium and Chromium-Nickel Stainless Steel Plate, Sheet, and Strip
for Pressure Vessels and for General Applications) — Cold rolled sheet and sheet in coil

OASME BPVC. Il .A SA-240/SA-240M (Standard Specification for Chromium and Chromium-Nickel Stainless Steel Plate,
Sheet, and Strip for Pressure Vessels and for General Applications) — Cold rolled sheet and sheet in coil

OBBKATYLVARIE « BIEAT YV AEMR. ATV VATER. AT VL AMERM iR

OT-YEHEDA L. PCRELUVHETE - EEREESBLTLIL,
OLLEIOVWTE EE - EER B CAEINERGERELEEELLIRHONEEA,
(BHSEURL : https://ecoleaf-label jp/regulation/)
E#HHFS ¢ JR-BO-24001E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

